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= 2,285,500
= 58,100
o 8,121,925
HIIZ MelAd 2 22 10,141,065 8,423,224 1,717,841
= 2,225,000
o 7,916,065
HEHIIZ MelAE 2 2 3,003,045 2,951,124 141,921
201 =3 1,035,594 1,029,714 5,880
01 AtR2t2lt] 228,420 222,540 5,880
Ost3ac|diE ] tHEF =
2,500,000& %12 2,500
Ot ae|dE =AU} MBS 2(0tA3,
g8A= )7 150,000 x 1204 2 1,800
OstZ 2|t 228 225 Y 7,200
R EE 250, 0002 +92 23] 4,500
—orx 5t 150,000 9 *23] 2,700
OFBIZ B4 242
2,000,000& %12 2,000
OSUAH B 442
200,000 * 1204 & 2,400
OV FAl2el ===
350,000 * 1204 4,200
O=2I| HIZN 448
200,000& %12 200
OAgOHE I 248
1,200,0002 *22] 2,400
OANIE Roisid =8 242
1,000,000& %12 1,000
OAZAIE BLD BIIZN 248
500,000& *12] 500
OAZAIE M E=BAL =2
5,000,000& 12 5,000
OAZAIE Ul BIBAIE KDIEE gig &
== 7,500,000& 1294 & 90,000
OAZAIE TIOISA SHEM 248
5,000,000& *12] 5,000
OA2ANE CIEYES Bolsd SH2A
= 4,500,000& 22 9,000
Ollgd 2&+ +2HA
350,000& * 1204 & 4,200
OUHE & XIot BAIE =ZHA
650,000& *3JH A #42] 7,800
OHJIE 82 A ===Z(HIE M S)
500,000 42| 2,000
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SN B@RLED
M SAHZL|ME 22 (SE/HDI2) (B2 /HDI2)
S HOIZ2 HMelAE 29 22| (SH &)
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
Ol g2l &)l SHEAN o=
50,000& *3CH 150
OS0IAE, Tl &) H™BAI =2
150,000 & *2CH 300
OZAHIOI HD| AHHAF =22
100,000 & *2CH 200
OHDIS fEHe =2 (HQE &)
5,000,000& 63| 30,000
OQOUHE & =Z2ZHAI AlE Y 2L
5,000 «1000H 500
O& &4 HelAld gXae] ARE pal(d
E £ 1058) 800,000 *6IH & 4,800
OLZAE SA 22 225 2L
2,000,000 1211 & 24,000
Qetd 22| g CCTV S A2 4=H|
500,000 % 14CH 7,000
O=8)| gr&e =42
300,000& =120 3,600
OAAD| SR =42
200,000& 121 2,400
OstF2e|HdE ZAI2e A, MsES F
1% 500,000 33| 1,500
OAZAIE 29 AIRID| A28 R(=2l
H EH S 5%5) 250,000 *53] 1,250
O XISFXED| KA2el =2
210,000& 121 & 2,520
OYYF XX SXE4H|
1,000,000 «23| 2,000
OstH2|MIE 22 AtSOHA 22101 1)
= 500,000 *23| 1,000
02 2324| 807,174 807,174 0
OstA2|HE HIAIRE
16,500,000 x120H& 198,000
OstHZe|ME =% AIZ2
2,000,000 *12J0& 24,000
Ot ae|HY Sals
110,000& = 12JH& 1,320
OstH2e|HE A8 &3]
100,000&*13] 100
OAM2AE ASH|
1,6402%4,8502| E4* 120 & 95,448
Os2I| X 244]
250,000& = 1200 & 3,000
Ol 22 2 =29 uH
5,000,000&*13] 5,000
Qetaate|dig ABAH| S22
5,000,000 *x23| 10,000
OAHELH| (WLt M ZL4H|) SN
2=t 6,500,000 63| 39,000
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SN B@RLED
M st |MdE 2Z22(F/HDI2)(8F/HDI2)
ool HOIZ XA 29 22 (cro|: M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OMEAIYE SX2AU(EEMN Y S)
5,000,000 *x23| 10,000
OMNMEEE HdEAIE RANEH|
5,000,000 *x23| 10,000
OAZAId TMSEH| 28 28 7 23,960
— N 1,800,000 23] 3,600
—EN4elE EE HIEX
810,000 *23| 1,620
—dEZH 540,000 63| 3,240
—u3E ItA Y 0N
1,500,000& 62| 9,000
—& Xl EX 6,500,000& *13] 6,500
O2ZHAIE JIAHEEN(Z2H S) WAl
750,000 63| 4,500
O22Ald Tdiel A2y & AHolE WXl
5,000,000 »23| 10,000
OaxZAld 32l ClA3 & 201 WXl
4,000,000 x23| 8,000
OL2tAld 201 2=
4,500,000& *13] 4,500
OAxZAIE ALt 2 W2 B+
5,000,000& *13l 5,000
OAzAd B2 A&
5,400,000& *13] 5,400
OL2Ad SIIE=I| RAlI22
1,000,000 = 1204 12,000
OX2ZAIE NS S22
3,000,000& 124 & 36,000
OLZtAld HIAHH |IEF e
550,000 240 132,000
OxZAd 2 EEHelAd SLMAHEX
SN2 2,500,000 43| 10,000
OazZtAd 2 AESHelAlE PLC 22 Xl
4,000,000& »23| 8,000
Oggl] & oli=J| ==cld|
500,000 *3CH 1,500
ogdd] & H=Jl &% +< 8,310
&% 1,640&*4,0002| & 6,560
— 3= 1,750&%1,0002| & 1,750
OBIZBRME X2, ZI| HI| 2AH 248
50,000 *8CH 400
Ogrdz2teldly xtg I sXAl2eltl
3,500,000 *8CH*13 28,000
Ostgae|dy Xtgk, =J| /34l
1,640 *2,8002| E*8CH 36,736
Odt=EHAl AZAIE RAE=H|
4,000,000 »23| 8,000
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SN BPLED
H2: SAVRIME ST (S/HIIS)(2Y/HIS)
Cel: HIIE HMolAlE 29 2 EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
O#ZRME FIINE SN2t
4,000,00024%25] 8,000
OgZ et el PR
5,000, 00024 +63] 30,000
OL2AIL GIDFEI| B 24 S
5,000,002 +13] 5,000
OA2AAE Hi2 X SE S A
4,000,000 #43] 16,000
OL2AL 443 B2 BT I
2,000,000 %43 8,000
OA2ANE Q44 BE S 24
1,000,002 +23] 2,000
206 TH26| 128,050 128,050
o1 2| 128,050 128,050
OBBRIME L A20IS Y 4E 7Y
35,0002 +405+23] 2,800
OHIIZ HEE 23H 7Y
75,0002 +255+23] 3,750
OFE4 H2AlL 2YUE 7Y (BaYR
5, JHADH 3,000,0002+13] 3,000
OFB4 H2AL OBA L BHE Y
2,500,002+ 13l 2,500
O HBAS IY(Z2AH, 223)
600,0002+23] 1,200
OL2AIM 29 %F [Y(Rr4, 243,
2HE) 7,500,000& 1204 & 90,000
OXZ42 D28 HIZ, S, 43K 7
800,00024+13] 800
OWate =A== 20)
3,000, 0002424 6,000
0422 244, A3 L 70
1,800, 0002+ 1074 18,000
301 LBHBFI 79,200 41,649 37,551
14 JIEl2 A3 79,200 41,649 37,551
OX0 2N 24
160, 00021 %2224 +2% + 1204 79,200
307 BI2H0IH 1,481,201 1,382,711 9,490
05 SI29IErS 1,481,201 1,382,711 9,490
O42NE D2ISY 9123
1,481,201,00081%13] 1,481,201
308 XX/ EHHISOIF 120,000 20,000
14 JIEFRES 20,000 120,000
OHJISHE PES(LEHIIZ L 232
2IME AIRFHDIS)
20,000, 00084+13] 120,000
401 S Bl L= ThY| 249,000 249,000
01 Alt 249,000 249,000
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SN B@RLED
. SF2ALiHY 22l (&3/HDI2)(8F/HDI=2)
Cel: HIIE HMolAlE 29 2 EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
Oz UatE 2+3At
20,000, 000& »23] 40,000
OXZTAIE oA XH W
5,000,000& 22 10,000
OUt=H OISZHI0I0 B4 SAH
20,000,000& »23] 40,000
OUEHDIZ A Hel 2
20,000, 000& »23] 40,000
OAZAIE (™D O WA
25,000,000& *13] 25,000
OstZacdE XS & 29 24 SA
25,000,000 13 25,000
OL42Z 11X, 2% HOIE uH & 2=+
7,000,000 22 14,000
Oaztg 2 2= 5,000,000& *12] 5,000
OWUEZD| 28 & s B«
25,000,000 =23 50,000
MEHIIE MelAd 2 2el(l) 475,500 472,580 2,920
101 @124H| 475,500 472,580 2,920
M ORINZZE2NSE S 475,500 472,580 2,920
ONgs H8 2 AIE2g 22| 475,500
—Jlzs 80,2402 * 162 +23& < 1204 2 354,340
—F5=4 80,2402 x 162 525 66,760
—282 200,000 x16E* 1204 38,400
—d0=2 500,000 x16E*23] 16,000
HEHDIZ XMelAlE FEXS 2N 156,520 186,520 0
201 er=23| 2,520 2,520
01 AtR2te|Hl 2,520 2,520
Ostgdaeldy F2UXNHEAM o+
70,0002 x0EH *43] 2,520
401 AIEHIZ SR THYI 154,000 154,000
01 Al&HI 154,000 154,000
Oz aeldE FHX FXJAIS (&
.99, X, 82, 2&, oih, SX)
22,000,000 *7H 2= 154,000
MEHIIZ MelAlE HSAS (CHA &4 6,416,000 4,843,000 1,573,000
= 2,225,000
= 4,191,000
401 AlEHIZ S 0HbI 6,416,000 4,843,000 1,573,000
= 2,225,000
Ea 4,191,000
01 AlZH| 6,416,000 3,643,000 2,773,000
Ot aeldE] A2tAIE AXIA (LA &
&) 6,416,000,0002 * 10 A 6,416,000
= 2,225,000




SN B@RLED
M sARMH 2P (SH/HII2)(83/HDI2)
ol HDIZ HMRIAE 22 B2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | = 4,191,000
d2HI|I=2 22 & A2at 324,460 324,460 0
= 60,500
= 58,100
Ea 205,860
SZHHIY =H A& 280,000 280,000 0
= 56,000
= 56,000
= 168,000
301 EtE N = 280,000 280,000 0
= 56,000
< 56,000
= 168,000
14 IIEt2 8= 280,000 280,000 0
OsZHHIE =243 X&
1002 +2,800,000kg 280,000
= 56,000
[ 56,000
T 168,000
dsHllE 8% KR 2 14,000 14,000
201 er23| 14,000 14,000
2 s5=34l 14,000 14,000
OYsHII2 BERIE SXB4|
2,000,000 79K 2= 14,000
HEHII=2 H2E 22 6,460 6,460
201 et 3| 6,460 6,460
01 AlR22IH| 6,460 6,460
O AN MBHDIZ SV M2
240,000 * 1204 & 2,880
O=AXNS NeEss 25XeE =
240,000 +63 1,440
Ox&k EsllllZ =HXYE g
240,000 *62 1,440
OMEEE 2eltiE 222 (AEH, HEX)
M 350,000 22 700
dsHllz =H N2 24,000 24,000 0
= 4,500
== 2,100
[Ea 17,400
401 Al HIZL S 0HYI 24,000 24,000 0
= 4,500
=S 2,100
s 17,400
01 AlZ28| 24,000 24,000 0




/HIDIS)

b

of
i’
oF
uJ

-

KIO

Hlw

4,115,199

91,420
91,420
27,220

335,199

64,200

MEE
Ofl &k2h

4,000
4,000
4,000
4,000
1,000

3,000

6,579,429

83,580
83,580
9,180

679,429

74,400

Ofl &F2H

24,000

4,500
2,100
17,400
4,000
4,000
4,000
4,000

1,000

i

iy

rH

1,000
3,000

3,000

10,694,628
7,514,000

N

iy

1,666,000

rH

1,514,628
1,014,628
175,000
175,000
36,400
36,400
22,400
22,400
14,000
138,600
138,600

- ESS

- SRA(E) - HIRAY

S - B

8,000,000 *37H 2

200,000 *57H 2

01 AFS2t2ltl

30
0H
[0
M0

3tE)

KF

[og =]
=T

250,000 *1CH*12JH 2

& MR (A

3

400, 00024 * 147K A %4

o)

JIZA A

01 AFS2t2ltl
Ott=4

30
OH
Mo
[0

186,200
121,200

A3,520

165,520
150,720
11,220

42,000
14,000
12,600
70,000
351,720
7,700
1,400

271,920

3
|
|
|
|
— o1 -

3

5

3

3

)

,0002 *140H 2:+1

300, 0002 1474 443
el
00

v |
(224

1

3,000,000 1401 A #1
1,000,000 * 147K 2 *1
2,500,000 1401 A2

tel24~(26
2

t

o)

Ott=4f
01 AFS2t2ltl

HT% OFSAAE 2

c
ol




SN B#ALED
B NSALE BHE U DISAET BO|(BY/AGET - 23
2ol gt & AR =ZAIE 22 (Gt H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
ODISa+E 2% A0E 7g
100,000 * 140 A+23] 2,800
Obtsdsr =8 402 4|
250,0003 x 140 A+12] 3,500
02 s3=gHl 264,220 139,500 124,720
ONlEy+E B4E &I
700,000 x 1400 2% 120 & 117,600
Oltsd=sE 3% HUANESE & 3t
2= 70,0002 #1400 A+ 12002 11,760
ODIBYAE 4T L)
350,000 x 140 A+12] 4,900
Olt=d=+E 34+ dJIMAE! =2yl
2,000,000& * 1471 2x13] 28,000
Oltsals=E BX =2l
1,000, 0002 140 A+13] 14,000
OUOE Bfefad etdate| e !SI
330,000 * 1204 3,960
Obtsd=E d=5=3tAE FA2H|
6,000,000& * 1471 2+13] 84,000
206 M=l 79,800 14,800 65,000
01 MZH| 79,800 14,800 65,000
Og4 A9 g
40,0002 x5S+ 14 #2353 5,600
OOISA%E 01DSH(R0) L FUOITLE 2
=t 5,300,000& * 1471 2=+13] 74,200
SAXS OiS4sE 2el(1d]) 487,908 430,329 57,579
101 @124H| 487,908 430,329 57,579
M JIZtHZ2 RS2 487,908 430,329 57,579
Olt=d=sE 344 22 22| 487,908
—JlZ2= 80,2403 x 14272 12043 363,969
—F=5=4 80,2402 x14H x535= 59,539
—=28= 300,000& x14H 120 & 50,400
—d0=2 500,000& x14&+23] 14,000
e Ald 25 & 2 9,680,000 2,410,000 7,270,000
N 7,514,000
[ 1,666,000
Ea 500,000
LIHE~ZPALE S 2t2 XIS A 4,492,000 0 4,492,000
Xl 3,980,000
s 512,000
401 Al HIZL 01| 4,492,000 0 4,492,000
N 3,980,000
[ 512,000
01 Al&H| 4,487,260 0 4,487,260
OUHHE~ZALE S A3 JHEALS
4,487,260,0002 * 10K A 4,487,260
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SN B#ALED
B NPAST BE U DISAET BO|(BY/AGET - 23)
CHel: ARCAIM 2E U 22 (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xl 3,975,800
=S 511,460
03 Al 2 0HHI 4,740 0 4,740
OUHIGE-BAIE SAAISR LA
4,740,000 4,740
N 4,200
= 540
g SFAE ME 2 OHE 200,000 2,030,000 1,830,000
401 A2 HIZL 201 200,000 2,030,000 1,830,000
01 Al&HI 200,000 2,030,000 1,830,000
OXEH SE 442 ALTA
30,000,000& 30,000
OJeIZ4 AL X2
800,0002 100K 2= 80,000
OXEH Uzol HEg2 &d=2Z AESAt
40,000,000 *1IH 2 40,000
OINNE BoZ HSLMER DR
50,000,000 *10H 2~ 50,000
ARG A =2HE 3,988,000 380,000 3,608,000
N 3,534,000
< 454,000
401 AIZHIX R0 3,988,000 380,000 3,608,000
Xl 3,534,000
= 454,000
01 AlZ8| 3,988,000 380,000 3,608,000
OFES HE THAIZE HLAe
3,988,000,000& * 11 2 3,988,000
N 3,534,000
= 454,000
a7t SAIE HZEAL (HEHALYY) 1,000,000 0 1,000,000
= 700,000
Ea 300,000
401 AIZHIX S0HH 1,000,000 0 1,000,000
= 700,000
o 300,000
01 A28l 1,000,000 0 1,000,000
OAHE =ZAIE HEAY
1,000,000,000& *1IH 2 1,000,000
[ 700,000
T 300,000
ot 2ol (8 /aotsE - =) 8,240,708 5,487,062 2,753,646
= 3,459,000
= 279,900
o 4,501,808
St=HMelHAIE 4,908,142 3,289,600 1,618,542
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SN B#ALED
B Sl Bol(BY/AGIAT - 23
s of=XCIEAIE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,459,000
=S 279,900
s 1,169,242
e B30t =2AE 20,000 20,000 0
401 AIEHIZ SR THYI 20,000 20,000
01 Al&HI 20,000 20,000
O8&ote=k =4 2,000,000& * 102 20,000
S3ote=k =il 29 179,642 179,642
401 Al HIZL 201 179,642 179,642
01 Al&H| 179,642 179,642
OBBsl+HIE JISAHETE B, &
) 69,010,000& x13] 69,010
O33ot+22 JsdH(E7E, 8% 85
g58) 110,632,000 *13] 110,632
OSot== ¥ JIBAIE (EEXIH) 2,247,500 131,200 2,116,300
= 1,917,000
= 166,900
o 163,600
401 Al HIZ S OHbI 2,247,500 131,200 2,116,300
= 1,917,000
= 166,900
[Ea 163,600
01 AlZH| 2,247,500 131,200 2,116,300
OYEXT UIS84E HHIAIL
2,247,500,0002 100 2 2,247,500
= 1,917,000
= 166,900
o 163,600
OrSoteE & JIBAIE (SERIR) 1,139,000 34,400 1,104,600
= 797,000
= 68,400
= 273,600
401 AlEHIZ 201 1,139,000 34,400 1,104,600
= 797,000
< 68,400
s 273,600
01 Al&H| 1,139,000 34,400 1,104,600
OZg X+ OtSot=x EHIA
1,139,000,000& *1IH 2 1,139,000
= 797,000
< 68,400
= 273,600
OtSoteE & JIBHAIE (AR 2) 542,000 0 542,000
= 325,000

_24_




= =R SN
ST el(BA/MBAT - 2E)
Sh R 2 B Al SEIEIED
SA - B SRIBH) - MRAR - BAS A HIDEZ
[ 32,600
s 184,400
401 AlEHIZL S0 542,000 0 542,000
= 325,000
== 32,600
[Ea 184,400
01 Al&H| 542,000 0 542,000
QM7 DI254E HHIAY
542,000,000 * 191 2 542,000
= 325,000
== 32,600
o 184,400
OS5t E ¥ JIBFAIE (BHARKIF) 180,000 0 180,000
= 120,000
== 12,000
o 48,000
401 A2 HIZL R 0HbI 180,000 0 180,000
= 120,000
S 12,000
o 48,000
01 A28l 180,000 0 180,000
OBAFKI 7 DtSote= EHIA
180,000,000 *1IH 2 180,000
= 120,000
= 12,000
o 48,000
OFSdts== & JIBAIE(RIES SAHRFRl) 500,000 0 500,000
= 300,000
[Ea 200,000
401 AlEHIZL SO 500,000 0 500,000
= 300,000
= 200,000
01 AlZHI 500,000 0 500,000
O&=E S3ot=XclAld S dt=22
ERA 500,000,000& 500,000
= 300,000
o 200,000
OtSot=k R 100,000 985,000 885,000
401 Al HIZ S 0HHI 100,000 985,000 885,000
01 AlZ8| 100,000 985,000 885,000
Obtsst== AMEE SN2
100,000,000 *1IH 2 100,000
=Xy 2g2el 3,332,566 2,197,462 1,135,104
Melgded ¥ |l 1,628,614 1,605,096 23,518
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SN B#ALED
3 o=k 2el(8d/doteE - +E)
s of=XclE g2l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,219,704 1,495,096 N275,392
01 At2teltl 486,622 331,438 185,184
O&&ot=HlAld HiyeE 7Y
170,0002 %12 170
O33ot=xclAld =ZHAM H+d 2
B00R #4600 A+ 103 x 1200 2 3,312
OZTaI4+H2AE $TEM +48
60,0003 *46IH 2-*42] 11,040
OMelot=MelAlE =E2BA ==
10,0002 % 14504 2 1,450
OSEotrHelAld 224 /s 7Y 4,850
—HY=(ST) 150,000& *7& 1,050
—HUS(EFF) 100,000& *7& 700
—ord st 100,000 <7 700
—1318 me=
200,0003 x 12t Ax 1200 2 2,400
OBTEI+HEIAE 22T (HS2l 5001E)
- 80,0002 4604 A 3,680
O, &l , ™ A2 S306t+=xclAl4
=X satl 360,000/ 463 2,160
024 LEFSE HAM) U S5 2B
IIDNES 1,000,000& %12 1,000
OBToH+HIZ LoBY B 242
1,080,000& 1290 & 12,960
O33ot=HMel A (46 2)IIH, &I S =
K2 800,000 *46 1 A =400 & 147,200
Ottt SHEZZE(8MA) AlEE |XiZel
400,000 880 A4 00 & 140,800
OBBat=HIAL =8tz =5
4,500,000 *42] 18,000
O33ot=xclAld ot==ciXl AAE X
140,0002!+1,000& 140,000
02 S3=gHl 733,082 1,163,658 A430,576
O3Zot=HMelAlE HMIIQSB(MelZE46HL,
BIE88HA) 70,000,000 +6IH & 420,000
O33dt=HMelAd dstea (e, 24, Y
8l) 50,0002 *3CH* 120H 1,800
O33ot=HMelAle att=E23(HMelH 4
A, BIE 2)2)
100,000& 6o A+ 1290 2 7,200
OXJetE ] e (BE, E=SH, 24,
L3R4 1,000,000 1290 & 12,000
Ogt=¢lol= E2lHl
2,600,000 %12 2,600
OS&0ots XAl g FA22] 21,330
—=&x
1,802 x140c| Ef*42|* 1200 & 12,701
—St=xt 1,800 *402| B4 *42]« 1200 2 3,629
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SN BRI
M ST Hel(BY/MGHEE - 2F)
el SleXclE 2ga] EER=E)
2 - IE!
SN - BE - BI(EH) - MRAY - BES ol ke e HimES]
— X2 2 2l 2,500,000 «2CH 5,000
OZ3otHelAlE ez & otED] WAl
612,000 *467H 2~ 28,152
O336t=HMelAE (X sYs]) ™S HSEYI
o % 2 15,000,000 27 A 30,000
OBBoIHT 2UOH JUFY, XS
IlsH 89 o P4
3,000,000& 23] 6,000
OB Eot==HelAE SH2H 3=
1,000,000 *12JH 2 12,000
OFES oMW (TP)HRIS S2iX &
o 5,000,000& 43| 20,000
OZ33s6t=XMelAld S 2g2el(8E, 23])
85,000,000 270 2~ 170,000
OMHAZZE AUBI| 5 d¥sE FFH(E
CSoteHeld) 2,000,000 *13] 2,000
401 AIEHIZ 2018 408,910 110,000 298,910
01 Al&Hl 408,910 110,000 298,910
O33ot=HelAlE JIH&EH 2 MAH&l|
= 20,000,000 10K 2~ 20,000
O33ot=Meld FUMMECHEZS, 24l
, 23| X4 20,000,000 *12] 20,000
Odt=Held J1sdHo IHE Al 2=
20,000,000&*12] 20,000
Odt=2t2 J|=dH0l HE AEEs 30,000
—HEEs 750,000 *40JH 2~ 30,000
O&ES ot==HMeld 6| Ol wH & £
&= 60,000,000 *17H 2 60,000
OSJAIXIF Bi==4Hl QLEXBIAIM(HE)
74,470,0003 =100 2~ 74,470
OSJAIXIF Bi4Hl QEFBIAME (SU, S
el) 184,440,0002 *1JH & 184,440
Xeld =&z 1,689,940 563,296 1,126,644
201 ZEH2 & 6,000 6,000 0
01 AFR-2t2ltl 6,000 6,000 0
OEAXNS 2o T4
1,500,000 *43] 6,000
206 =4l 40,000 30,000 10,000
01 M=l 40,000 30,000 10,000
OrES33oteMHeld 29 42 R(E
2l ,PAC, S&HI) 5,000,000& 83 40,000
307 212t01 & 1,643,940 527,2%6 1,116,644
05 QIR”IE S 1,643,940 527,29%6 1,116,644
OB&ot==HelAlE 22| AEES
1,643,940,000& 13| 1,643,940
HMelded 2 sIzel(eldl) 14,012 29,070 A 15,058
101 @124H| 14,012 29,070 A15,058

_27_




SN B#ALED
B Sl Bol(BA/AGIAT - 23)
el oteXeld g2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORNZZENSE S 14,012 29,070 15,058
Odt=22 7, 7E EAMA 22
167,0812 52 x10 8,35
O=g S=3&4l 1At 5,657
—JlZ2s 10,0302 *2A1 20270+ 1H 5,417
—AlBI2E8E 20,000 * 1294 & 240
HH2LZH(3 =2 D) (OIEH/IIE 236,022 218,215 17,807
el 2| 125,135 125,635 A500
el E2d| 125,135 125,635 A500
101 21AH| 125,135 125,635 A500
01 2= 125,135 125,635 A500
OstZ=21 AR 22 125,135
—2ety 125,135
6= 12, 84426 *40A| 2H 1200 & 36,991
IG 11,6022 6 *40A| 2+ 1200 2 33,414
- 82 10,4162 x 102 +40A| 2H+ 1201 2 49,997
= 9,860 x 1 *40A| 2t 1200 2 4,733
=34 110,887 92,580 18,307
JlEZel(8d=&1) 89,335 25,460 63,875
201 er23 | 44,260 23,960 20,300
01 At2teltl 29,960 23,960 6,000
OstE3+Z1 ARFAU AIRES 78
10,0002 *34 2 1270 2 +80% 3,264
Ot =21t HRFA JXt SASA 28
25,0002 34 +0 .65 A 12JH 2 +80f% 4,8%
Ot A2 S| Sx=
330,000 x1CH* 1290 2 3,960
Osta21 Zgly E 7 (EW)
300,000 *4JH*53] 6,000
Oga+=21 Zgid EH Fe(2d)
330,000 x4 *43] 5,280
Osta21 =0 & MYdl itz
70,0003 x2LH*42] 560
OdlH|2 HI%Z =M AL & NS
120,000 x25H x2 6,000
02 S3=gHl 14,300 0 14,300
Otd==21 8Xe 288
1,100,000 * 13CH 14,300
202 04| 45,075 1,500 43,575
01 =LHA LI 45,075 1,500 43,575
Ost3+-21 R 24U EEE0YI
20,0002 x252 9=+ 1294 2«30 16,200
Ot &1l HRFA 242 ESH0HI
110,000 2 x25 2 x5 +73] x30% 28,875
JlE2ZH (83 EME) 3,744 10,314 26,570
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SN B#RLED
3. dY2I3HI(S8F+=E W) (OIEH/IIE
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 3,744 3,456 288
01 At2teltl 3,744 3,456 288
OBABYE ALET SAY|
9,000 *6 2 +60 *80% 2,592
OZEHE YR ARES 78
20,0002 6 1204 2 +80% 1,182
JlEZdl(gZ2elE) 3,120 14,280 A11,160
201 2= 3,120 2,880 240
01 At22telt] 3,120 2,880 240
Otz ac|g R4 sS4l
9,0003 =4 ~60& 2,160
Otd 2|8 gRF ARES 78
20,0002 x4& 1204 960
Jl23HI(EBHHE) 6,384 14,770 A\8,386
201 et 3| 6,384 5,824 560
01 AtR2tc|bI 6,384 5,824 560
O HEE H2FT sS4
9,000& »7 & *100 *80% 5,040
OBHIHE R AIRES 78
20,0002 *7 H =120 2 +80% 1,344
l2dtl(a=E8) 3,120 10,080 26,960
201 er2 3| 3,120 2,880 240
01 AtR2t2|HI 3,120 2,880 240
Od=EE gFFN IAHI
9,000 x4 +752 *80% 2,160
Og=EE g2FA AREE 7Y
20,0002 x4 1571 2 «80% 960
Jl=ZHl(ot+==8) 3,744 16,236 A12,492
201 Ler=23| 3,744 3,456 288
01 At2teltl 3,744 3,456 288
Odt=E8 gRFA SAHI
9,000 6 +60 L +80fk 2,592
Odl+= 8 gFF MRES 7
20,0002 6 & 124 2 +80% 1,182
II2BH(SRA2ZZA) 1,440 1,440 0
202 04l 1,440 1,440
01 SLHoIH 1,440 1,440
O3R3 22X 24 £F0d]
20,0003 x4 +52 1201 2 30% 1,440
Wees (st (LSSAY/ME - 38) 7,480,836 7,480,836 0
WA XIE 7,480,836 7,480,836 0
WA XIE 7,480,836 7,480,836 0
701 JIEtRI HSHES 7,480,836 7,480,836 0
01 et AN ES 7,480,836 7,480,836 0




SN BHLED
o YRES(HPSED)(LUBBUI/NE - 28)

Rl WERAHHXIE

S A - BRI - HRA - BES of e A
OZEH ZUANIE SANBR
1,500,000, 000& 1= 1,500,000
OXlgat= 28 SE23UIt
5,980,836,000& x 1= 5,980,836
Hess (a2 (23/HIIS) 30,000 30,000 0
WA XIE 30,000 30,000 0
LS HHKIE 30,000 30,000 0
m@ISHES 30,000 30,000 0
01 JIsdEsS 30,000 30,000 0
OgZ2e|diy =2IXdII38 EH3(HDI=2
Brol~=2 10/100) 300,000, 0002 *10% 30,000




